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(1)Sketch the graphs of fix) = ! and Syi-yraxt=0.10%
X

(2)Find _[I' {w"?+%)a’: and Jl:x_%dx. 10%

(3)Find the area of the region bounded by the graphs of
a)f(x) =Jx and g{x)=x'

b}y’ =x+1and x+y=1 10%
(4)Find CDS{EFCCGS-I%‘F arcsin%]_ 10%
(5)Evaluate [+v4-x"dx. 10%

(6)Find the length of the cardioid r =2(1+cosf).  10%

(7)Find the tangential and centripetal components of
acceleration of a particle whose motion is given by

»~

;(r):r;+rj+r?k 0g1<l, 10%

(S)Sulve the following diffcrential cquatlons 30%
a) ;{;ﬂ —xy’ '
by -2y +10y = 0, ¥(#f2} = 0,y (/2) =1

C)y' 4y 43y -2y = O, p(0) = 0,y (03 = 1,y"(0) = 0.



